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Checking Division Answers Name:

Check each answer. Determineif the answer is'correct' or 'not'. Answers
Ve Q. = A\
Gvision problems can be checked by AT A= 182+6=2915 \
multiplying the quotient by the divisor 32 29 L

and then adding the remainder. x 8 x 6
256 174 2.

If the answer is the same as the + 7 + 5

dividend, it is correct. 179

- X -

1) 249+2=124r1 2) 769+5=153r4 4
5.
6.

3) 299+5=159 4) 307+9=153r1 k
8.
9.
10.

5 950+9=158r2 6) 607+9=67r4

8) 383+7=54r1

7) 759+6=126r3

9) 152-6=25r2 10) 590+6=98r3
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Checking Division Answers Name: Answer Key
Check each answer. Deter mineif the answer is'correct' or 'not'. Answers
Ve . A= N
GVision problems can be checked by ARSI 182462915 ) correct
multiplying the quotient by the divisor 32 29 &
and then adding the remainder. x 8 x 6
256 174 o, Correct
If the answer i;t_he same as the + 7 + 5
& dividend, it is correct. 263 179 / 3 not
1) 249+2=124r1 124 2 769-5=153r4 153 4 not
x 2 X 3 5 not
248 765
+ 1 + 4 6.  correct
249 769
7 correct
3 209:5=59 59 4 307+9=153r1 153
) *x 9 8. not
295 1377
+ 0 + 1 9. correct
295 1378
10. not
5 950+9=158r2 158 6) 607+-9=67r4 67
X 9 x 9
1422 603
+ 2 + 4
1424 607
7) 759+6=126r3 126 8 383:7=54r1 54
X 6 x 7
756 378
+ 3 + 1
759 379
9 152+6=25r2 25 10) 500+6=98r3 03
X 6 X 6
150 588
+ 2 + 3
152 591
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